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OFFICE MANAGEMENT

Puffa g . 392 (FAftreram 37 - 60
Time allowed : 3 Hours| [Maximum Marks : 60
Pz () IA-FAATGEAY AeadE
Note : There are THREE sections in the paper A, B and C.
(i) QT T H I GG 1 F G 10 97T F I oY | ¥ 97T G 3 H1 8 0d
G 10 577 FEGHE FR & FH7 F 2 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

i) AT @ % 8 yo 7 @ 1 6 ¥l & I G | b ¥ 3 3% FT8 vq
27T 5 @TET / 50 %l 4 I e |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT F6 597 4 G el 4 gvl & IR AT | FAF G 8 HF FT 2 T
377 15 13T / 150 91&G1 § 37 G178 |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

() N G & @ 5T ) FHHAR OF HTY & HITT |
Solve all the questions of a section consecutively together.

(vi) ZF yTI3 A 37 81 #) Rt 7 S A A |

Only English version is valid in case of difference in both the languages.

[FE - T
Section — A
1. (1) e 8 a1 AE SIeE SaaE v qd AR 8 ¢
(a) G (b)) e
(c) fepsmad (d) g
Which of the following is not the essential element of Good filing ?
(a) Sufficiency (b) Easy

* (¢c) Economic (d) Insecurity
E (10f4) P.T.O.
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{-H @iod & fog
Iqires @t

For searching e-mails
All of the above

TT-8=1 bl

(20f4)
SFHITHT T ITI 2
(a) TgEl i @ied & feru (b)
(c) Al @ & fern (d)
Use of Indexing is
(a) For searching files (b)
(¢) For searching letters (d)
(iii) T & A=A ararerV] W T gee &1 g9TE T8 usar @ ?
(a) dT9HTE 1 (b)
(c) HhIY SFIET &l (d)

(iv)

(a) Maximum lighting (b)
(¢) Glare formation from light (d)
(v) FEdaela s TR aeh @ 2 7
(a) Wil T F (b)
(¢c) IWEHisAaIHH - (d)

T fdeh sFaedt &

Which factor doesn’t affect the internal environment of an office ?

(a) Temperature (b)
(¢) Lighting system (d)
I8 TehTIl SHaEYT H1 0T &

(a) ST 1 SAhad BT | (b)
(c) WehTYT &1 =Y &M | (d)

Quality of a good iighlening system is

Colour conditioning
Political system

YehTYl 1 Hal S |
THTY § GBS I~ BT |

Right diffusion of light
Creation of shade from light

FHHFET gRI Iraiely i 9
&A1 & AEPTEA °

Which of the following is not a source of internal noise ?

(a) Operating of machines (b)

(c) Ringing peon bell (d)
(vi) wiedl & | R sEfem s ge 2 :

(a) FraTETd HaT3Ai i IqeTeHdn (b)

(c) 3fheh W (d)

Disadvantage of office at urban location is :

(a) Availability of conveyance facility
(b) Availability of Banking services
(¢) Noise of Traffic

(d) Availability of communication facility

(vii) ST faama 2
(a) AT ATATERYT (b)
(¢) IWIH eHI (d)

Office layout is :
(a) Office environment

Conversation of employees
Vehicular traffic

S it 1 e
i 1 Al 6 I

Iuerey Yl & &1 wHTEgul G419
39U | F IS TE

(b) Effective planning of available floor space

(¢) (a) & (b) both
(d) None of the above
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(viii) Hrafers ye-ge feae wfaffaa 2 7

(a) LT & (b) FIHRHI

(c) a1 I (d) eI B

Who's representation is the Office Manager ?

(a) Shareholders (b) Government

(¢c) Public (d) Managers
(ix) HrTer w1 i & 78 2 -

(a) HEATY UTH AT |

(b) HEI B UGH HET |

(c) gEI3il 1 ARG W@ |

(d) Ge o FeafE 6 G S 9 36 AT T |
Which of the following is not primary function of office ?
(a) Receiving information

(b) Supplying information

(c) Recording of information

(d) Safeguarding and recording of assets of organisation

(x) il H e 2
(a) sﬁgéaiﬁgﬁm (b) Ffirerai i gea
(c) TS FHIT (d) It aeft

Benefit of filing is :
(a) facility of prompt referencing (b) safety of records

(c) documentary evidence (d)  All of the above (1x10)
Fge —
_ Section - B
). e fEE wHR 3 Y 6l i@, & @ 48 %1 HE AT 8 7
How does office work as an eye. ear and mouth to the Managers ? 3
3 ST uE s % grae f dEied F e e 8 7
What is the importance of an office in relation to shareholders and creditors ? (3)
4, e vaeus o feaf aaemse |
Explain the position of an office Manager. (3)
s wrier il e % IS < A e |
Explain any two advantages of decentralization of office services. 3)
6. ehter famma % fadi <) SEedl I EHETST, |
Explain any two objectives of office layout. (3)

P.T.0.
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1.

10.

11.

12.

13

14.

15.

e T T ST SAaE i T YT el @ 7

How does lighting system affect office employees ? i3)
e i st s e wad 6 fafai 2 7
What are the methods of controlling the internal noise in office ? 3)

S8 Tee SoTTelt % fhl & FTEvdE al i FHEST |

Explain any two essential elements of a good filing system. 3)
o — €
Section - C

e % wafie wal 6 faa=m Fif |

Discus the primary functions of an office. (8)

e S & S F IR R 7 Frter yeue 5 wl Hri Bl JHEe |

What do you mean by Office Management 2 Explain all the functions of Office
Manager ? (3+5)
Write short notes on :

(i) amEE

Temperature control
(i) “rEferd § T SHaE

Colour conditioning in office (4+4)

sraft 2§ Hrte we %1 9 HE & o 9 gl Bl FHE |

Explain the advantage and disadvantage of selecting office location at urban area.  (4+4)

FIHTOTERT 9T B 7 i SRR @ T (TEdian) SRR bl FEET |

What is indexing ? Explain wheel indexing and strip indexing. (2+3+3)
T 3 foru ratera S @ S fop w3 for pew fBim 2 | =men Hif |
“The office is to business what the main spring is to a watch.” Explain. (8)

%



